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1. TR ToIOT

oo *

2. TEd qaav=iad <3

3. Hefdrem
4. TUEE ARG

5. I AR

6. ATER YA

7. H.°|')Q'|"|°¢|°|°I')Q'I"|I“-¢||'-l\

8. QLUTYRUMSATH

9. AR ATIHIH

10. FrergTq,
11. SfeegHfte;

12. OIS TARHOT
13. FAEIgITIH

14. Th=LAA qo01
15. TfUrdH=aa:
16. TUThHH=I :

dfger Ut & Wicle 99 TF 39 31

TEol ¥ T SIfHeh & 5|

By one more than the previous one.
gft A ¥ 9w erfm g § Q)
Allfrom nine and last from ten.

@ (T2) IR faws <Al g 9
Vertically and Crosswise.

TITIXOT R ST |

Transpose and apply.

T THM BH T Y 2l B

When the 'Samuchaya's are the same, that
'Samuchaya'is zero.

TETA B TR TE I Bl B
Ifoneisinratio, the other oneis zero.
RISEX S:ﬁ'{ e [h|

By addition and subtraction.

31Ut ! 0T Teh|

By completing.
AT o R

By Calculus

51 1 2 3teq forerer|

The Deficiency

T ! UT 31 qUi 1 T A g
Whole asone and one aswhole.
3 T W 3Ta9IY i |
Remainder by the last digit.

arf=am 3R ST~ =1 ST
Ultimate and twice the penultimate.
Te! ¥ T 1 & R

By one less than the Previous one.
TfoTdl 1 T=A |

The whole Product.

T[UTehl ShT T |

Set of Multipliers.
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1. &= -
2. W@W
3. SEHEAI<

4, heel: gudeh AN
5. RAq -

6. g egTH -

7. AT drerglehed o

8. FTFARIGhSTY -
9. ITIARA
10. TG : -
11. AT
12. faarerm -

13. T == : F=IA[urd -

3= faferse HehouaTy -

1. ggam -
2. TS -
3. ISlih -

3TTEIdl & BN

Proportionately.

o §U I 9T Hed B

Whcihremains, is called remainder

TEcl ! T8al |, Sifad i 3ifam 9|

First by the firstand last by the last.

%, 9, @ H 7 IO AR

Multiply 'ka' (1), 'va'(4), 'la' (3) by 7 (Fromula for 1/7).
TSIz wiemn st Tk faftre foean =
H

The osculation. (A method for divisibility test.)
STl 9 ST 3T A |

What ever deficiency further lessen that much.

AT T 3T 3R FH HLH o T A
ERIEPHE Tl

Lessen by th deficicency and add its sqaure.
3ifam 7Rt 1 A 34|

Sum of last digitsis ten.

Hhad Afdd gl

Only by the last.

T4 UHA|

Product of whole.
IEMIEERCCRSIREIR-T

By Elimination and retention.

3T gNI|

By observing.

ol % FHEl T RS SR OAEA b
T[OTIeRT <1 IRT T BT

Product of the whole is equal to whole of the
product.

GATHSR | (Duplex)
NIRGERUE (Purity)
T o T T 37k | (Flag digit)
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faw TS chHih
TA-TehITeeh gaur 5
(Sutra-Ekadhikena Purvena)
g (GA-UahTehT Jaur) 6
(Addition - Sutra-Ekadhikena Purvena)
e (W T i) 9
(Subtraction - Best Friend Digit)
fafsma o 12
(Mixed Calucutions)
e (ga-Tafae ) 13
(Multiplication Sutra-Nikhilam)
U GA-Se e 18
(Multiplication - Sutra-Urdhvatiryagbhyam)
o SIER 22
(Multiplication)
U G THIehT GAUT+3UHT FAGensta 24
( Multiplication-Sutra-Ekadhikena Purvena )
OTSTehdl & e 26
(Divisibility)
T ( eastien fafér) 30
(Division - Dhvajank Method)
= & am 33
(Addition of Fractions)
TR TUTaA- 3 sTe 37
(Indian Mathematician-Aryabhatta)
gt TfuTas- sfframe T 42

(Indian Mathematician-Sriniwas Ramanujan
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AT 1 HA-TehTieeh gaur

Chapter - 1 Sutra-Ekadhikena Purvena

1.1 eRITesh qa01 <1 Ieal Tehiferehe IR g | S €1 Uehifeshe w1 27ef
T € “ U F 31fersk” qen gav 1 red gl € et 9

1.1 Ekadhikena Purvena is made from two words Ekadhikena and Purvena.
Ekadhikena means “One more than” and Purvena means “Previous
one”.

SETETOT 1 ¢ 36 H T 6 1 THITEhA T A0 | 6 1 T 37k 3 1 37
3 1 THITHSH [ LA & T 3 & IW fog & |
SR THRIIRI =3 +1=4

Example 1 : Find the Ekadhikena Purvena of 6 from 36.
Previous digitof6 is 3.
Now to get the one more than 3 place a dot over 3.
Like onemore of 3=3+1=4

ITEYUT 2 : § T Ui AT A hifSrl| § 1 Id 31k A 2|
A0 THMH =0 =0+ 1= 1

Exampl 2 : Find the Ekadhiken Purvena of 8. The digit before is zero.
Onemoreof0=0+1=1

STRMH HICT / EXERCISE-1.1

TA-UShT eIk YAUT oh WA § 157 37ehl oAt TehTi&ehe JauT AT ol :-
(1) 365 H & 5 (2) 934 § 3% 3 &I (3)8Y 3% 8 I
(4) 1950 H 3fH 9 &1 (5) 3103 H 3k 0 A1 (6)145 H 37 4 AT
(7) 13 H & 1A (8) 2223 H 3{&k 3 &I

Using the sutra-Ekadhiken Purvena find the Ekadhiken Purvena of the
following digits.

(1) 5in 365 (2) 3in934 (3)8in8 (4) 9in 1950

(5) 0in3103 (6) 4in145 (7)1in13 (6) 3in 2223
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A -2 e (GA-UehITehT gduT )

Chapter - 2 Addition (Sutra-Ekadhikena Purvena)

2.1 Eifee o1el A & g9l i qeol 9 Sl STt B

2.1 Ekadhiken Purvenais very useful in addition sums of carry

3ICTBY0T 1 :— AN RIS - 6794+ 8418 +9803 6 79 4
Example 1:Add 6794 + 8418 + 9803 0 % 41 8
09803
25015

fafer .- (1) =9m =% 999 ATl S99 3 W <9 =1 <9 9 3Afueh 81 ST s
S 3 9 UBd 3k W Uiy o o iR Ahet B 9 3 ®
3 HT A 3 F ST 9F - 448 = 12, 3Td: 8 % T 3fh | W
WERITEeh a2 2+3 = 5 3 i foran|

Method : (1) When doing addition, If the sum becomes 10 or more than 10 on a
digit then place a ekadhik mark ( ) on that digit and take unit place digit
from the sum and add to the next digit. Example : 4 + 8 = 12, So place
ekadhik mark on 1 (previous digitof8)and 2+ 3 =5

(2) 9+1 = 11 o7d: ik 1 & Td 31 4 W THIMF fo= qon 1+0 = 1 =
feran
9+ 1=11, Soplace a ekadhik mark on 4 (previous digitof 1)and 1 +0=1

(3) 7+4 =12, 8 W eIy Tog oM 2+8 = 10, 9 W TahI{Heh fa=g q1 0 !

= feren

7 +4 =12, place ekadhik mark on 8 (previous digit of 4) and 2 + 8 = 10,.
Place ekadhik mark on 9 (previous digit of 8)

(4) 6+8 = 15, 8 o AU 3ieh 0 T HITeeh Forg A0 5+9 = 15, 9 & Y01 37k

0 T Tehitaeh a8 a1 == 3 5 feran|

6 + 8 = 18, place edakhik mark on O (previous digit of 8) and 5 + 9 = 15,
place ekadhik mark on o (previous digit of 9) and write down 5

(5) 0+0 = 2 =1 == fer@m / 0+ 0 = 2 write down in answer
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HEMH HIAT / EXERCISE-2.1

T TEREE TE @y & A R -

Using Sutra - Ekadhiken Purvena Add the following

8

@A)

1)

3
+5 9 2

+ 7 5 8

+ 5 3 4

5883 (5 2367 (6 14098
+3 79 4 26 6 3

@

2 3 6 2
8§ 3 0 5

+2 9 8 7

4 5 4 8

+ 4 8 3 7

5705 @8 8296 (@9 38745
6 3 0 8 +2 6597
75 49
+9 235

4 9 9 8

Y

6 7 8 9
+ 8 9 7 6

3430 (12) 269 238

27 6 8 9 (1) 1
2.6 9 5 7 36 05 4
4030 5

2 8 6 45

(10)

357 45

79 50

1
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SAEMH HIAT / EXERCISE-2.1

I ThITYHh= AU & AN G AT HifSQ)

Using Sutra - Ekadhiken Purvena Add the followin
4 p 3 p
1 F o @ T T 3
418 75 647 80
+395 30 + 88 50
kg g kg g
@4) Toem Tm (5) fem. um (6)
55 725 105 360
48 275 36 150
+15 225 +74 250
kg g kg g
(7) Tem wm @®) fem wm 9)
38 250 32 365
67 575 65 725
+45 355 +28 084
m cm ¢ me
(10) Hro THto 1) fae fafae  12)
455 20 125 600
+375 50 124 775
+169 225

g
3 p
o ﬁo
575 25
+ 275 55
kg g
frun. um
210 275
385 450
+ 505 500
m cm
o gfo
389 50
237 36
+336 75
14 m¢é
fetet fafeto
179 450
245 200
+175 500
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3TAT-3 Haeho™ (TWH 9T 3 )

Chapter - 3 Subtraction (Best Friend Digit)

1.1 YUYW TUF 3{eh / Bestfriend Digit :-

TS <7 21T T 2T 10 BI4T § 3 TER Teh SHL o IRk 3feh 3720 TRAfas
FHEA &

The two digits whose sum s 10 are called best friends of each other.

1R TH AR =9  Best Friend of 1is 9
2HI A EANF =8 Best Friend of 2 is 8
3HIIHTHA 3R =7  Best Friend of 3is 7
AR THT AR =6  Best Friend of 4 is 6
SHITHMIAR =5  BestFriend of 5is 5
6FTHTHA3H =4  Best Friend of 6 is 4
THITE A AR =3  BestFriendof 7is 3
SHTH ™I AR =2  Best Friend of 8 is 2
ORTHHI AR =1  Best Friend of 9 is 1

1.2 HAchcTd GiehdT / Subtraction process

dfe T A Hahed & BfGa 9 g9 wH fE ofw deun g
T Qv & FHfed JaT @ o€ Terdl 9 gt fhT ST Tehd 71 S

In Vedic mathematics the subtraction sum of barrow are easily done by
the combined operations of Best friend digit and Sutra-Ekadhiken

Purvena. Tahd / Hint :-
3IETEATT 1 : i
Example (1) 9_31 =6 i .
6 7 819 (2) 1998 L wedr 21 3Ty § & AR 37 2
HEER 1 1 | Ser e A 3 i foan|
8 is not subtracted from 1 therefore the best
2 8 836 friend of 8 is 2 and write 2+1=3
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(3) FIfR 8 1 TAMHA ek Torn 71 o, 38l 9 R Tehieh oA ama|
Because the best friend of 8 is taken, therefore place Ekadhik mark on 9.

(4) 8% O T = Wawdll 37: 9 F AL HF 0 1 § H e A 8 A=
foren qe 9 & d 31 8 W Taniaeh fogd o

é is not subtracted from 8. So add 0O (best friend of.9) to 8 and write down
8. Place Ekadhik mark on 8 (previous digit of 9)

(5) 77 8 & e Wehdl, 37: § % WIS Sk | I 7§ Sier a4 § A
feten den 3 W Tt fere o

8 is not subtracted from 7. So add 1 (best friend of 2.3) to 7 and write down
8, also place Ekadhik mark on 3 (previous digit of 8)

(6) 6-3 = 2 @ 9 foram

HETMH HIAT / EXERCISE-3.1

dfaer NI Ugfad | TRt ahifsE

Subtract by Vedic Mathematics

(1) 911 (2) 801 3) 7668
-783 -463 -6589

) 9802 ) 8284 (6) 5000
-5864 -5989 -2999

(7 52341 8) 40260 9) 95320
-183209 -36501 -74858

(10) 94985 M) 91200 (12) 90000
-76598 -84029 -40995
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